
3/4" 

1" 

MODEL IN-32 IN-POOL STEP 
PARTS BREAKDOWN 

TREAD-RISER 

(NO HOLE) 

HALF TOP 

TREAD 

HALF BOTTOM 

RISER 

1/4 WASHER 

FRONT 

FLANGE 

LEFT STRINGER RIGHT STRINGER 

REAR 

FLANGE 

LOWER LEFT STEP HANDRAIL 

L 

R 

LOWER RIGHT STEP HANDRAIL 

UPPER LEFT STEP HANDRAIL 

UPPER RIGHT STEP HANDRAIL 

PART 

DESCRIPTION 

QUANTITY 

OF PARTS 

PART # 

( COLOR: WHITE ) 

PART # 

( COLOR: TAUPE) 

LEFT STEP STRINGER 1 VWC-LSS-W VWC-LSS-T 

RIGHT STEP STRINGER 1 VWC-RSS-W VWC-RSS-T 

32” TREAD-RISER (NO HOLE) 2 VWC-FTR32-W VWC-FTR32-T 

32” HALF BOTTOM RISER 1 VWC-HBR32-W VWC-HBR32-T 

32” HALF TOP TREAD 1 VWC-HTT32-W VWC-HTT32-T 

LOWER LEFT STEP HANDRAIL 1 VWC-LLSH-W VWC-LLSH-T 

LOWER RIGHT STEP HANDRAIL 1 VWC-LRSH-W VWC-LRSH-T 

UPPER LEFT STEP HANDRAIL 2 VWC-ULSH-W VWC-ULSH-T 

UPPER RIGHT STEP HANDRAIL 2 VWC-URSH-W VWC-URSH-T 

FRONT FLANGE 2 VWC-FF-W VWC-FF-T 

REAR FLANGE 2 VWC-RF-W VWC-RF-T 

1/4-20 x 3/4 S.S. BOLT 10 VWC-1420X34SSB VWC-1420X34SSB 

1/4-20 x 1 S.S. BOLT 6 VWC-1420X1SSB VWC-1420X1SSB 

# 10 x 1 S.S. SCREW 12 VWC-10X1SSS VWC-10X1SSS 

1/4 S.S. FLAT WASHER 32 VWC-14FWSS VWC-14FWSS 

1/4-20 S.S. HEX NUT 16 VWC-14HNSS VWC-14HNSS 

32” TREAD-RISER (WITH HOLE) 1 VWC-FTRH32-W VWC-FTRH32-T 

R 

L 

1/4 HEX NUT 

#10 x 1 SCREW 

1/4-20 BOLTS 

TREAD-RISER 

(WITH HOLE) 


